gularly. The table below showg

) ere
20. Atamedical clinic, doctors have a certain number of patients that they 5€
the number of patients that each family physician sees.

Patients at the Clinic B
Dr. Grandy 619
Dr. Pearson 408
Dr. Bieraugel 91
Dr. DeChant 522
Dr. Jacobs /12

‘ i f the total number of
A.  Round each number to the nearest fifty and use these numbers to find an estimate O
patients at the clinic. Show all work.

B.  Round each number to the nearest ten and use these numbers to find an estimate of the total number of
patients at the clinic. Show all work.

C.  Theexacttotalis 2,852. Compare your answers in parts A and B to the exact total. Which estimate is
‘ closer and why? Use the concepts of units of measurement and accuracy in your explanation




